
Page 1

 | Grease nippleLubrication equipment

ERIKS NV | Tel: +32 56 23 67 13  |   E-mail: tools@eriks.be

Disclaimer: The content of this document has been composed with the utmost care. However, it is possible that certain information changes over time, becomes inaccurate or
incomplete. ERIKS does not guarantee that the information provided on this document is up to date, accurate and complete; the information provided is not intended to be advice.
ERIKS shall never be liable for damage resulting from the use of the information provided.

PR
_E

C
01

18
98

_0
01

8_
JL

R_
EN

_1
8.

05
.2

02
4

PRESSOL Hydraulic grease nipples H1, straight, 180°, acc to
DIN 71 412, hardened, galvanized, hexagon version

Description Article

Greaser 15009 h1 m8x1 23894781
Greaser 15037 h1 1/8'g 23894793

Pressol 15010 smeer.h1 m8x1,25 23894782
Pressol 15062 smeern.h1 1/4'nf 23894796
Pressol 15007 smeern.h1 m6x1 23894779

Greaser 15015 h1 m10x1,5 23894785
Pressol 15013 smeern.h1 m10x1 23894783

Greaser  15038 h1 1/4'g 23894794

/1

http://shop.eriks.be
mailto:tools@eriks.be
http://shop.eriks.be/en/searchterm/23894781?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894793?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894782?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894796?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894779?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894785?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894783?searchEriksPartno=true
http://shop.eriks.be/en/searchterm/23894794?searchEriksPartno=true

